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SM365 — Test 3 — Fall 2011
1. (15 pts) Using the data table on the right: % | Fx)
a. Find the Lagrange interpolating polynomial. 01 2%
b. Use your result for estimate f(2) . 1 2
c. If|f""(x)| is bounded by .25 on the interval [0,3] obtain a bound on
the error for the approximation f(2). 3] 14
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- 2. (15 pts) Using the data table on the right:
a. Construct a divided difference table. x | f(x)
b. Find the Newton interpolating polynomial. -1 -2
c. Use your result to estimatef (1). 0] -3
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3. (15 pts) Use matrices to find the interpolating polynomial for the data on the
right.
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4. (15 pts) Find the line of best fit for the data on the right. Esmvnecte {E;\
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5. (15 pts) Find the error for the following approximating formula:

fx) = ;llg (FG) = 2f (x + k) + f(x + 2h))
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. (15 pts) Fill in the missing values from the given extrapolation table. Indicate the order of
approximation in each successive column. Additional, state explicitly the equation that you
used to perform each extrapolation.
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